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MNU 3-10a Homework 5 Silver Level
Outcome 1 - Time Intervals Outcome 2 - Calculating Distance
Calculate how long is it from... Calculate the following distances...
. . . . S =40 mph. S = 80 km/hr
L 300amto745am & 500pmto810pm | e SZ20MPR g S=S0kmAr
S =60 m/sec S =90 km/hr
e 045 pmto 950 pm $ 1:30 am to 8-45 pm T=40seconds D=7 g T=50hours D=?
. . S =700 m.p.h. S = 300 m.p.h.
& 440pmto1005pm & 1400 to 1830 R T-8houre Dz B T-omoure Dz
S =900 m/sec S =700 m/sec
; 0800 to 1125 -a 1220 10 1545 -‘; T =60 seconds D=? T=70seconds D=?
S = 2000 m.p.h. S = 11000 km/hr
.a 0940 to 1215 .m 1930 10 0025 a T=5hours D=7? T=30hours D=7

Outcome 3 - Calculating Speed
Calculate the following speeds...

Outcome 4 - Calculating Time

Calculate the following times...

_& D = 180 miles D = 800 kilometres _& D = 220 miles D = 160 kilometres
T = 6 hours S=? ®® T=10hours S=? S=2mph. T=?2 *® S=4km/hr T=?
D = 4400 metres $ D = 1800 miles D = 3600 metres D = 5600 miles
T=11seconds S=? T=2hours S5=? S=9m/sec T=? S =8 m.p.h. T=?
5 D = 4500 miles D = 2100 miles 5 D = 2400 miles D = 4200 miles
T=9hours S=? %9 T=700hours S=? S=40mph. T=?2 @ S=600mph T=?
D = 24 000 metres D = 25 000 metres D = 81 000 metres D = 60 000 metres
-‘; T=3seconds S=? T=bH5seconds S=? -‘z S=9m/sec T=? S=12m/sec T=?
D = 12 000 miles D = 33 000 miles D = 88 000 miles D = 144 000 miles
a T=40hours S=? T =300 hours S=7? S=110mph. T=? -JQ 5=1200 m.p.h. T=?
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